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X 76,718 157,771 74476 83,295 | Z&FILUETAT 749 1,779 835 944
E 4575 9,339 4,285 5,054
BEKET1T 922 1,808 866 942 |EREEZHI2T 1,442 3,152 1,513 1,639
BEKET2T 380 793 372 421 H 1,442 3,152 1,513 1,639
B 1,302 2,601 1,238 1,363 |R=E~EET1T 254 749 359 390
< FE] BT 9,502 22,270 10,494 11,776 |HE=E4~ER2T 293 549 275 274
Lt RER1T 357 551 273 278 |R=E~ERI3T 444 995 484 511
Tt RERT2T 244 445 212 233 |R=E~ER/T4T 208 445 201 244
Lt RER3T 242 411 216 195 |R=E+~ ER5T 360 634 330 304
Lt RERT4T 173 290 139 151 5| 1,559 3,372 1,649 1,723
It RERST 173 360 177 183 | KEIFAT1T 788 1,625 768 857
Lt RERGT 98 214 108 106 | KEI1FAT2T 923 1,863 905 958
Lt RER7T 83 163 81 82 s 1,711 3,488 1,673 1,815
TtRERST 141 211 109 102 (A RERT1T 144 241 105 136
g 1,511 2,645 1,315 1,330 (A RERT2T 143 312 155 157
tfEBET1T 291 596 264 332 |mRERST 358 883 401 482
tfEBET2T 1,251 2,548 1,194 1,354 |FARERT4T 262 419 160 259
tfEBET3T 1,088 1,967 962 1,005 |FARERIST 161 360 165 195
tfEBET4T 999 2,105 1,034 1,071 §t| 1,068 2,215 986 1,229
g 3,629 7,216 3,454 3,762 |F{E AET 2,296 4,855 2,354 2,501
ERAET1T 633 1,462 724 738 | = AHT 259 448 213 235
ERATET2T 361 812 390 422 |BEEERMET1T 268 493 231 262
ERATETST 419 858 407 451 |BE ERMET2T 583 1,172 573 599
g 1,413 3,132 1,521 1,611 (BEEHRMAETST 736 1,478 692 786
==Yl 1,072 2,155 1,030 1,125 (B E B RMET4T 842 1,691 810 881
HEWEET 316 541 234 307 |BEEERMETST 710 1,558 750 808
HERE2T 410 653 287 366 B 3,139 6,392 3,056 3,336
HEWREIIT 303 523 263 260 |BEEMBILAT1T 246 385 174 211
HEWE4AT 167 303 141 162 (B EB#EiLET2T 447 867 400 467
g 1,196 2,020 925 1,095 (B E E#EiLATST 531 1,111 498 613
HEREET 1,648 2,906 1,223 1,683 (B EB#EiLET4T 645 1,272 624 648
HEREET2T 2,750 5,782 2,670 3112 | B EE#BILAT5T 754 1,573 748 825
HEREBEIIT 2,776 5,027 2,136 2,891 5| 2623 5,208 2,444 2,764
HEFETAT 2,043 3,778 1,641 2,137 |EEBHEE1T 1,097 1,965 959 1,006
HEREEIST 1,388 2,797 1,367 1,430 (B E BiBHT2T 151 326 163 163
| 10605 20,290 9,037 11,253 (B R B#AT3T 2,278 4,372 2,098 2,274
HUEET1T 839 2,184 1,058 1,126 B 3,526 6,663 3,220 3,443
HYERT2T 544 1,265 608 657 |BEERZET1T 644 1,304 593 711
g 1,383 3,449 1,666 1,783 (BB BHEZET2T 480 983 454 529
MEET 414 903 435 468 |BEETZAI3T 349 795 389 406
EET2T 341 769 379 390 B 1,473 3,082 1,436 1,646
g 755 1,672 814 858 |EEEARET1TT 694 1,287 620 667
WHAEET1T 746 1,815 834 981 |BEEEARET2T 264 575 286 289
WHEEET2T 225 475 229 246 |EEEARETST 1,067 2,472 1,194 1,278
RT3 T 847 1,665 842 823 B 2,025 4,334 2,100 2,234
g 1,818 3,955 1,905 2,050 |EE BMEmET1T 328 718 336 382
RKEIRAT 5904 12,665 6,041 6,624 |EE BMEPET2T 250 476 230 246
hRERTT 292 534 252 282 |BEE EEmBET3T 645 1,356 651 705
hRER2T 191 311 145 166 B 1,223 2,550 1,217 1,333
hRERST 224 443 215 228 |J\TFdt 102 178 76 102
hRERT4T 296 538 259 279
B 1,003 1,826 871 955
o A BT 576 1,231 592 639
hEEEET1T 670 1,318 615 703
hEEEET2T 901 1,457 671 786
hEEEETST 477 1,136 544 592
hEEEET4T 782 1,488 747 41
hEEEEST 879 1,687 792 895
hEEEET6T 3,418 6,041 2,880 3,161
5| 7127 13,127 6,249 6,878
P =T 901 2,241 1,102 1,139
BAFBILETTT 1,030 2,078 976 1,102
BXEFILET2T 1,015 2,201 1,071 1,130
BEAEFILAIST 1,781 3,281 1,403 1,878




